. ‘%’.: STRUCTURE AND BONDING - TUTORIAL 7
K VNS  Bonb LENGTH & OXIDATION NUMBERS

(01) Arrange the following compounds in the increasing order of bond length.

i. N-CI, N-F, N-Br (N- X bond length) ii. SF», SF4, SFs (S-F bond length)

vii. C2Hg , C2H4 , C2H> (C — C bond length) viii. NaCl, MgCl,, AICl; (M-CI length)
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H H H Y 2
b ’ Cc / N
a ‘ I .f'l i a
H—C=—72C C C—C - ‘
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(C-H bond length) (C- C bond length)
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XVI.

ot
[0}
= (C-C bond length)
HyC— (|: CH==CH- -CH—C=C—CH,
CH, CHj
XVil. ros (C-C bond length)

p q :
Hy,C—CH=CH-—C=CH

(02). Arrange the following compounds in the increasing order of electronegativity.

1. C,O,N,S, F 1. H,C, S1,0, S

. H,C, O .’. CL F ............... N Na’ Mg ’. Al, Sl’ P ____________
. Ll, Be,o’ Na’ Mg ......... . C’ H’ N,CLP ................
vi. F,Cl,0O,S,N Viil. Mg, Li, B, Si, S

(03). Arrange the following compounds in the increasing order of electronegativity of
the given atom.

i,  NH4', NHy, NH3;(N) ii. CO,CO,, COs%(C)
iii. SO SO%, SO (S) iv. 0%, 0,0 (0)
\% NO:-, NO,*, NO3 (N) vi. NOF, NH;, NOs* (N)
vii.  Has, SO, SO3 (S) viii. OH-, H,0, H;0" (O)

CH, 1X.

a b c
} |3(: (: C| |_(:| |- _(|:H_CEC_CH3 (C) ...................................
LI“,H3 CH;
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(04) Find the oxidation numbers of the given atoms.

1. O'=C=0? C-riiien, O1- v O2- i
1. H-F H-.............. F-o
iii.  H-CI H- ... Cl-.
iv. 0O'=S=0? S- O1- v, O2- i
V. O'=N!'-N2=0? O1- v Ni-ooinn. No- o, O2-.........
vi.  H-O'-N=0? O ceviiii N-o, O2- i,
Vil.

CH; -N!'-N?=0 Ni- o No- oo O-

i,
vii. N=C-0- N- C- O- i
ix. H-C=N"-0- C-o, N- O- i
X. NH; N-
xi.  NO#* N- O- .
xii. O,= I\|I+ - Oy N- Oa- v Ob-eviiiiinnennn
F

xiii. N=N N-,
xiv.  Os=Op"- Oc Oa- e Ob-eviiiinnnn. Oc- i,
xv. SCN- S C-, N
xvi. Na=Np"=N¢ Na- ceevriinnennne. No- oo, Ne- v,
xvil. CN- C- N-o
xviii. H-O'-0O%-H O . ... O%- i,
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iX. |
Si=S=0,
|
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X. 0O1=Ni- 02-N2=03

ii. HoS
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